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Name - Starttime-_ _:_ _ End time-_ _:

Work out the answers to these addition problems.

382+ 1=..... 482 =382 = ........
286+ 10 = ......... 729 4 ......... =730
412 +100=....cc.. =10 + 726
......... =812 +1 100 + 372 = .........
......... =609 + 10 vereenen. + 50 =100
......... =423 +100 20+ .........= 100
s64+10=.oc. +60 =100
......... =604 + 100 90 + ......... = 100
529+1=e +100 =100
309 +......... =319 10 + ......... =100
CHALLENGE

Working space :
Double of 17 =
Half of 24 =
Double of 45 =
Half of 80 =
Double of 70 =
Half of 150 =
Double of 35 =
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